Turn in (B) and (C).

(A)
Hyperbolic sine and cosine are defined as 
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Prove each of the following:


(i)
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(ii)
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(B)
Find the following derivatives in terms of 
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(i)

[image: image8.wmf](

)

)

1

(

2

+

x

f

dx

d





(ii)   
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(iii)
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(C) A weight at the end of a spring is set in motion.  Its position from equilibrium is given by 
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 are all positive constants.


(i)
What are the amplitude and period of the weight’s position?


(ii)
Find the velocity 
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.  What are the amplitude and period of the velocity and acceleration?
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